oU.a ° 9z ]2e

Gl¢é9,; @D, O $Y2é#n/ a2% 4éa "OEGéad,
EO&4OUCAE -5 &c50 24 & ¢56 . E1ac 5 O0Ea
uU "DOS é.%u seR¢aé \°H &'y C & &g

+

+ ébuNud ¢56 <E/ATO

I ae " Ae

[°2, @2€Pé U+ "1f2 & 1f2 é0E&aé .z/ ¢ E /al

el @k f Ic e a8eay "NAE +0 A& "EDPé -2 404 R
A4 cs0 . TAa0a0OuATaCH
E A+ &d4A% C+0a((Aa ¢560 .TA a0 . $/

3¢

3. Segment EB is perpendicular to Line AS. If the measure of Angle 1 is 59° and the measure of

Angle 2 is 22°, find the measure of Angle 4.
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If the measure of Angle 215 101°, do you

have enough informarion to find the

Line 11 is parallel to line 12. If the measure of
measure of Angle 17

Angle 115 65%, __ do vou have enough information

to find the measures of the other angles?
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